
s i z e

19x60cm

BJÖRN
Flammlachsbrett

MONTAGEANLEITUNG
ASSEMBLY INSTRUCTION



FLAMMLACHSBRETT | MONTAGE | ASSEMBLY

2 x M6x30

12 x M6x30

2 x M6

4 x 

2 x M6x30

12 x M6x30

2 x M6

4 x 
2 x M6x30

12 x M6x30

2 x M6

4 x 
2 x M6x30

12 x M6x30

2 x M6

4 x 

2 x M6x30

12 x M6x30

2 x M6

4 x 

A

C D

B

E

A

C

B

E

D

G F

F

1
2x M6x30

2x

8x M4x4

4x M4x84x



32

B

E D

G

FLAMMLACHSBRETT | MONTAGE | ASSEMBLY



54

FLAMMLACHSBRETT | MONTAGE | ASSEMBLY

A

C



MOESTA-BBQ GmbH
Raiffeisenstraße 7 · D-32584 Löhne

info@moesta.com 
www.moesta.com

1 2 3 4

 600 m
m

 190 mm

48 mm


